o‘%’o g & Phép céng 2 chit s6
Tén Ngay thang: Piém:____
62 65 90 92 48
+71 +96 +29 +20 +78
25 85 /2 49 43
+18 +70 +47 +42 +66
34 67/ 77 81 /3
+25 +54 +68 +76 +23
66 31 39 93 33
+68 +49 +43 +50 +40
63 62 95 34 49
+17 +37 +67 +95 +86
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o‘%)o g $ Phép céng 2 chit s6
Tén: Ngay thang: Piém:____
62 65 90 92 48
+71 +96 +29 +20 +78
133 161 119 112 126
25 85 /2 49 43
+18 +70 +47 +42 +66
43 155 119 91 109
34 67/ 77 81 /3
+25 +54 +68 +76 +23
109 121 145 157 96
66 31 39 93 33
+68 +49 +43 +50 +40
134 130 132 143 /3
63 62 95 34 49
+17 +37 +67 +95 +86
30 99 162 129 135
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